Hindawi Publishing Corporation Abstract and Applied Analysis Volume 2013, Article ID 535138, 6 pages http://dx.doi.org/10.1155/2013/535138

Research Article

New Application of the (G'/G)-Expansion Method for Thin Film Equations

Wafaa M. Taha, M. S. M. Noorani, and I. Hashim

Pusat Pengajian Sains Matematik, Universiti Kebangsaan Malaysia, 43600 UKM Bangi, Selangor, Malaysia

Correspondence should be addressed to Wafaa M. Taha; wafaa_y2005@yahoo.com

Received 4 December 2012; Revised 25 January 2013; Accepted 26 January 2013

Academic Editor: Allan Peterson

Copyright © 2013 Wafaa M. Taha et al. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

The (G'/G)-expansion method is used for the first time to find traveling wave solutions for thin film equations, where it is found that the related balance numbers are not the usual positive integers. The closed-form solution obtained via this method is in good agreement with the previously obtained solutions of other researchers. It is also noted that, for appropriate parameters, new solitary waves solutions are found.

1. Introduction

In this paper we are interested in the so-called standard thin film equation of the form

$$u_t = -(u^n u_{xxx})_x,\tag{1}$$

which in general has important applications in geology, biophysics, physics, and engineering (see [1–3]). Also known as the lubrication equation [4], it models the spreading motion of the free surface of a thin film on a solid substrate [5]. In particular, the function u(x,t) is the thickness of the fluid film at position x and time t. Here the parameter n denotes the kind of flow. In the case n=1, the equation models the thickness of a thin film in a Hele-Shaw cell [6]. When n=2, it is the Navier slip thin film equation which arises in the study of wetting films with a free contact line between film and substrate [7]. Furthermore, when n=3, it corresponds to the surface-tension-driven spreading of a thin Newtonian fluid [8].

King [9] introduced a generalization of the above equation given by fourth-order nonlinear degenerate parabolic equations of the following form:

$$u_{t} = -\left(u^{n} u_{xxx} + \alpha u^{(n-1)} u_{x} u_{xx} + \beta u^{(n-2)} (u_{x})^{3}\right)_{x}, \quad (2)$$

where n, α , and β are constants, while the second is a doubly nonlinear equation:

$$u_{t} = -\left(u^{n} |u_{xxx}|^{k-1} u_{xxx}\right)_{r}, \tag{3}$$

where k>0 is a constant related to the flow. Note that when $\alpha=0, \beta=0$, and k=1 each of the generalized thin film equations turned into the standard thin film equation (1). One of the most effective direct methods to build traveling wave solution of nonlinear PDEs is the (G'/G)-expansion method, which was first proposed by Wang et al. [10]. It is assumed that the traveling wave solutions can be expressed by a polynomial in (G'/G), where $G=G(\zeta)$ satisfies the following second-order linear ordinary differential equation $G''(\zeta) + \lambda G'(\zeta) + \mu G(\zeta) = 0$, where $\zeta = x - ct, \lambda, \mu$, and c are constants. Until now, (G'/G)-expansion method has been successfully applied to obtain exact solution for a variety of nonlinear PDEs [11–21].

Our main objective in this paper is to apply the (G'/G) method to provide closed-form travelling wave solutions of the generalized thin film equations and also standard thin film equation. To the best of our knowledge, this is the first time this method has been applied to such equations. In solving these equations, we found an instance where the related balance numbers are not the usual positive integers (see Zhang [22]). It is also noted that for appropriate parameters new solitary waves solutions are found. We compare our solutions with the solutions previously obtained by Bertozzi

and Pugh [23] and King [9], where they proved the existence solution to thin film equation via separation of variables. The closed-form solution obtained via this method is in good agreement with the solutions reported in [9, 23].

Our paper is organized as follows: in Section 2, we present the summary of the (G'/G)-expansion method, in Section 3, we describe the applications of the (G'/G)-expansion method for two generalization thin film equations, standard thin film equation and a special case, and in Section 4, some conclusions are given.

2. Summary of the (G'/G)-Expansion Method

In this section, we describe the (G'/G)-expansion method for finding traveling wave solutions of nonlinear partial differential equations (PDEs). Suppose that a nonlinear partial differential equation, say in two independent variables x and t, is given by the following:

$$P(u, u_t, u_x, u_{xt}, u_{tt}, u_{xx}, \dots) = 0,$$
 (4)

where u = u(x,t) is an unknown function and P is a polynomial in u = u(x,t) and its various partial derivatives, in which highest-order derivatives and nonlinear terms are involved. The procedure of the (G'/G)-expansion method can be presented in the following six steps.

Step 1. To find the traveling wave solutions of (4), we introduce the wave variable

$$u(x,t) = u(\zeta), \quad \zeta = x - ct, \tag{5}$$

where the constant c is generally termed the wave velocity. Substituting (5) into (4), we obtain the following ordinary differential equations (ODE) in ζ (which illustrates a principal advantage of a traveling wave solution, i.e., a PDE is reduced to an ODE) as follows.

$$P(u, cu', u', cu'', c^2u'', u'', ...) = 0.$$
 (6)

Step 2. If necessary we integrate (6) as many times as possible and set the constants of integration to be zero for simplicity. The solution process for (6) is based on the auxiliary conditions that the dependent variable and its first, second, and higher spatial derivatives tend to zero as $\zeta \to \infty$, that is,

$$u(\zeta \longrightarrow \pm \infty) = 0, \qquad \frac{du(\zeta \longrightarrow \pm \infty)}{d\zeta} = 0,$$

$$\frac{d^2u(\zeta \longrightarrow \pm \infty)}{d\zeta^2} = 0, \dots$$
(7)

From these conditions, we can take the constants of integration to be zero.

Step 3. We suppose that the solution of nonlinear partial differential equation can be expressed by a polynomial in (G'/G) as follows:

$$u(\zeta) = \sum_{i=0}^{m} a_i \left(\frac{G'}{G}\right)^i, \tag{8}$$

where $G = G(\zeta)$ satisfies the second-order linear ordinary differential equation as follows:

$$G''(\zeta) + \lambda G'(\zeta) + \mu G(\zeta) = 0. \tag{9}$$

Here the prime denotes the derivative respective to ζ , and a_i , λ , and μ are real constants with $a_m \neq 0$. Using the general solutions of (9), we have the following:

$$\overline{G}$$

$$=\begin{cases}
-\frac{\lambda}{2} + \frac{\sqrt{\lambda^2 - 4\mu}}{2} \\
\times \left[\frac{c_1 \sinh\left(\left(\sqrt{\lambda^2 - 4\mu/2}\right)\zeta\right) + c_2 \cosh\left(\left(\sqrt{\lambda^2 - 4\mu/2}\right)\zeta\right)}{c_1 \cosh\left(\left(\sqrt{\lambda^2 - 4\mu/2}\right)\zeta\right) + c_2 \sinh\left(\left(\sqrt{\lambda^2 - 4\mu/2}\right)\zeta\right)} \right], \\
\lambda^2 - 4\mu > 0, \\
\times \left[\frac{-\lambda}{2} + \frac{\sqrt{4\mu - \lambda^2}}{2} \\
\times \left[\frac{-c_1 \sin\left(\left(\sqrt{4\mu - \lambda^2/2}\right)\zeta\right) + c_2 \cos\left(\left(\sqrt{4\mu - \lambda^2/2}\right)\zeta\right)}{c_1 \cos\left(\left(\sqrt{4\mu - \lambda^2/2}\right)\zeta\right) + c_2 \sin\left(\left(\sqrt{4\mu - \lambda^2/2}\right)\zeta\right)} \right], \\
\lambda^2 - 4\mu < 0, \\
\left(\frac{c_2}{c_1 + c_2\zeta}\right) - \frac{\lambda}{2}, \qquad \lambda^2 - 4\mu = 0.
\end{cases}$$
(10)

Step 4. The positive integer m can be accomplished by considering the homogeneous balance between the highest order derivatives and nonlinear terms appearing in (6) as follows: if we define the degree of $u(\zeta)$ as $D[u(\zeta)] = m$, then the degree of other expressions is defined by

$$D\left[u^r\left(\frac{d^q u}{d\zeta^q}\right)^s\right] = mr + s\left(q + m\right),\tag{11}$$

where s is an integer. Therefore, we can get the value of m in (8).

Step 5. Substitute (8) into (6) and use (9) and collect all terms with the same order of (G'/G) together, then set each coefficient of this polynomial to zero which yields a set of algebraic equations for a_i , c, λ , and μ .

Step 6. Substitute a_i , c, λ , and μ obtained in Step 5 and the general solution of (9) into (8). Next, depending on the sign of the discriminant $\lambda^2 - 4\mu$, we get the solutions of (6). So, we can obtain exact solutions of the given (4).

The advantages of the approach taken in this paper are as follows.

- (i) It will be more important to seek solutions of higherorder nonlinear equations which can be reduced to ODEs of the order greater than 3.
- (ii) In the (G'/G)-expansion method, there is no need to apply the initial and boundary conditions at the

outset. The method yields a general solution with free parameters which can be identified by the above conditions.

- (iii) The general solution obtained by (G'/G)-expansion method without approximation.
- (iv) Finally, the solution procedure can be easily implemented in Mathematica or Maple.

3. Application of the (G'/G)-Expansion Method

3.1. Exact Traveling Wave Solution of Standard Thin Film Equation (1). Now we consider (1) which arises in the flow of a surface-tension dominated thin liquid film. Substituting (5) into (1) and integrating the result, and for simplicity equating the integration constant equal to zero, we get the following

$$u^n u''' - cu = 0. (12)$$

Suppose that the solution of (12) can be expressed by a polynomial in (G'/G) as follows:

$$u\left(\zeta\right) = E\left(\frac{G'}{G}\right)^m,\tag{13}$$

where *E* is a real constant to be determined later and *G* satisfies (9). Balancing between $u^n u'''$ and u, we get m = -3/n. Now it is easy to deduce that

$$u' = \frac{3E(G'/G)^{(-3+n)/n} \left(\left(G'/G \right)^2 + \lambda \left(G'/G \right) + \mu \right)}{n},$$

$$u'' = \left(\left(-3E\left(\frac{G'}{G} \right)^2 + \lambda \left(\frac{G'}{G} \right) + \mu \right) \times \left(\left(\frac{G'}{G} \right)^{-3/n} (n-3) - 3\left(\frac{G'}{G} \right)^{(-3+n)/n} \times \lambda - \left(\frac{G'}{G} \right)^{(-3+2n)/n} (3\mu + n\mu) \right) \times (n^2)^{-1}.$$

$$(14)$$

With the aid of symbolic computation, substituting (13) along with (9) into (12), and setting the coefficients of all powers of

(G'/G) to zero, we obtain the following system of nonlinear algebraic equations for E, c, λ , n, and μ :

$$\left(\frac{G'}{G}\right)^{-3/n} : -27E^{1+n}\lambda\mu + 3E^{1+n}n^2\lambda^2\mu + 27E^{1+n}n\lambda^2\mu + 81E^{1+n}\mu^2 + 54E^{1+n}\lambda^2\mu + 81E^{1+n}\lambda^2 + 81E^{1+n}\mu + 3E^{1+n}n^2\lambda^2 + 27E^{1+n}n\mu^2 + 6E^{1+n}\mu n^2 + 6E^{1+n}\mu^2 n^2 = 0,$$

$$\left(\frac{G'}{G}\right)^{(-3+n)/n} : 9E^{1+n}n^2\lambda\mu^2 + 54E^{1+n}\lambda n\mu^2 - 54E^{1+n}\lambda n + 9E^{1+n}\lambda n^2 + 81E^{1+n}\lambda + 81E^{1+n}\lambda\mu^2 = 0,$$

$$\left(\frac{G'}{G}\right)^{-3(1+n)/n} : 6E^{1+n}n^2\lambda\mu^2 + 27E^{1+n}\lambda^3 + 162E^{1+n}\lambda\mu = 0,$$

$$\left(\frac{G'}{G}\right)^{3(n-1)/n} : 6E^{1+n}n^2 - 27E^{1+n}n + 27E^{1+n}$$

$$-cE^{1+n}n^3 = 0,$$

$$\left(\frac{G'}{G}\right)^{(-3+2n)/n} : 27E^{1+n}\mu^3 + 6E^{1+n}\mu^3 n^2 + 27E^{1+n}\mu^3 n^2 + 27E^{1+n}\mu^3 n = 0.$$
(15)

The solutions of this system are as follows:

$$\lambda = 0, \qquad \mu = 0, \qquad c = \left(\frac{3}{n} - 2\right) \left(\frac{3}{n} - 1\right) \frac{3}{n} E^n, \quad (16)$$

where E and n are arbitrary constants.

Consequently, we obtain the exact traveling wave solution of (1),

$$u(x,t) = u(\zeta) = E\left(\frac{c_2}{c_1 + c_2 \zeta}\right)^{-3/n},$$
 (17)

where $\zeta = x - ct = x - ((3/n) - 2)((3/n) - 1)(3/n)E^n t$.

If we set $c_1 = 0$ and $c_2 = 1$ in (17), we obtain the solitary wave solution

$$u(x,t) = u(\zeta) = E(\zeta)^{3/n},$$
 (18)

where ζ is as above. This is exactly the same solution obtained by Bertozzi and Pugh [23]:

$$u(x,t) = \begin{cases} A(x-ct)^{3/n}, & x > ct, \\ 0, & \text{otherwise,} \end{cases}$$
 (19)

when $c = ((3/n) - 2)((3/n) - 1)(3/n)A^n$.

We remark that if $n \ge 3$, the solution of the system using the (G'/G) cannot be solved due to the no-slip boundary condition on the liquid solid surface, in one space dimension, a similar result reached by Bertozzi and Pugh [24].

3.2. Exact Traveling Wave Solution of the Generalized Thin Film Equation (2). We study nonnegative solutions of the generalized degenerate fourth-order parabolic equation of thin film equation (2). The solution of (2) as found by King [9] is as follows:

$$u = \left[-\frac{n^3 c}{3[(3-n)(3-2n)+3(3-n)\alpha+9\beta]} [-(x-ct)^3] \right]^{1/n},$$
(20)

requiring n > 0 and c > 0 for $8\beta < (1-\alpha)^2$ with $3(\alpha - \nu + 3)/4 < n < 3(\alpha + \nu + 3)/4$.

We seek the traveling wave solution of (2) in the form (5). Now upon substituting of (5) into (2), one gets

$$-cu' + \left[u^n u''' + \alpha u^{(n-1)} u' u'' + \beta u^{(n-2)} (u')^3\right]' = 0, \quad (21)$$

and by integrating (21) and, for simplicity, equating the integration constant which is equal to zero, we get

$$-cu + u^{n}u''' + \alpha u^{(n-1)}u'u'' + \beta u^{(n-2)}(u')^{3} = 0.$$
 (22)

Balancing between $u^n u'''$ and u, we get m = -3/n. Then, suppose that (21) has the following formal solution:

$$u(\zeta) = E\left(\frac{G'}{G}\right)^{-3/n},\tag{23}$$

where *E* is an unknown constant to be determined later.

Substituting (23), along with (9), into (22), and setting the coefficients of $(G'/G)^i$, (i = 0, 1, ..., 5) to zero, we obtain a system of nonlinear algebraic equations as follows:

$$\left(\frac{G'}{G}\right)^{3(n-1)/n} : 27\beta E^{1+n} + 27E^{1+n} + 6E^{1+n}n^{2}$$

$$-27E^{1+n}n - cEn^{3} - 9\alpha E^{1+n}$$

$$+27\alpha E^{1+n} = 0,$$

$$\left(\frac{G'}{G}\right)^{(n-3)/n} : 3E^{1+n}n^{2}\lambda^{2} - 27E^{1+n}\lambda^{2}n + 6E^{1+n}\mu n^{2}$$

$$+6E^{1+n}\mu^{2}n^{2} + 81E^{1+n}\lambda^{2}\mu - 27E^{1+n}n\mu$$

$$+27E^{1+n}n\mu^{2} + 81E^{1+n}\mu + 81E^{1+n}\mu^{2}$$

$$+81E^{1+n}\lambda^{2} + 81E^{1+n}\lambda^{2}\mu + 3E^{1+n}\lambda^{2}n\mu$$

$$+9\alpha E^{1+n}\mu^{2}n - 9\alpha E^{1+n}n\mu + 81\alpha E^{1+n}\lambda^{2}\mu$$

$$-9\alpha E^{1+n}\lambda^{2}n\mu + 81\beta E^{1+n}\mu + 81\beta E^{1+n}\lambda^{2}$$

$$+81\beta E^{1+n}\mu^{2} + 81\alpha E^{1+n}\mu^{2} + 81\alpha E^{1+n}\mu$$

$$+81\alpha E^{1+n}\lambda^{2} = 0,$$

$$\left(\frac{G'}{G}\right)^{-3/n} : 126E^{1+n}\lambda\mu + 27E^{1+n}\lambda^{3} + 162\beta E^{1+n}\lambda\mu$$

$$+6E^{1+n}n^{2}\lambda\mu + 162\alpha E^{1+n}\lambda\mu + 27\beta E^{1+n}\lambda^{2}$$

$$+27\alpha E^{1+n}\lambda^{3} = 0,$$

$$\left(\frac{G'}{G}\right)^{(2n-3)/n} : 81E^{1+n}\lambda\mu^{2} - 54E^{1+n}\lambda\mu + 9E^{1+n}\lambda^{2}$$

$$+81E^{1+n}\lambda\mu^{2} + 9E^{1+n}n^{2}\lambda\nu^{2} + 54E^{1+n}n\lambda\mu^{2}$$

$$+81\alpha E^{1+n}\lambda\mu^{2} - 18\alpha E^{1+n}n\lambda\mu^{2} + 81E^{1+n}\beta\lambda$$

$$+81\alpha\lambda E^{1+n} = 0,$$

$$\left(\frac{G'}{G}\right)^{-3(1+n)/n} : 27E^{1+n}n\mu^{3} + 27E^{1+n}\mu^{3} + 9\alpha E^{1+n}\mu^{3}n$$

$$+6E^{1+n}n^{2}\mu^{3}\lambda^{3} + 27\beta E^{1+n}\mu^{3}$$

$$+27\alpha E^{1+n}\mu^{3} = 0.$$

with the solutions

$$\lambda = 0, \qquad \mu = 0,$$

$$c = \frac{3E^{n} \left[(3 - n)(3 - 2n) + 3(3 - n)\alpha + 9\beta \right]}{n^{3}},$$
(25)

where β , n, and α are arbitrary constants. Hence, we obtain the exact traveling wave solution of (2) as follows:

$$u(\zeta) = E\left[\frac{c_2}{c_1 + c_2 \zeta}\right]^{-3/n}$$
 (26)

(24)

For the comparison between our solution (26) with that of King's as given in (20), first we assume $c_1 = 0$ and $c_2 = 1$ and then we get the same as that of King's (20) if we take c as in (25) in (20).

3.3. Exact Traveling Wave Solution of the Second Generalization of the Thin Film Equation (3). This part is primarily concerned with the Cauchy problem for the doubly degenerate equation (3). King [9] gave the solution of (3) in the form:

$$u = -c|F|^{k-1}F\left[-(x-ct)^{3k/(n+k-1)}\right],$$
 (27)

where $F = (k + n - 1)^3/(3k(2k + 1 - n)(k + 2 - 2n))$ and here k = m as in King [9].

The traveling wave variable (5) permits us to convert (3) into an ordinary differential equation as follows:

$$-cu + u^n \left| u''' \right|^{k-1} u''' = 0.$$
 (28)

Considering the homogeneous balance between $u^n|u'''|^{k-1}u'''$ and u in (28), we obtain m = -3k/(n+k-1). Therefore, we can write the following:

$$u(\zeta) = E\left(\frac{G'}{G}\right)^{-3k/(n+k-1)},\tag{29}$$

for the traveling wave solutions of (28). By substituting (29) together with (9) into (28), clearing the denominator, and setting the coefficients of $(G'/G)^i$, (i = 0, 1, ..., 7) to zero, we have the following algebraic system for E, λ , μ , n, and k:

$$\left(\frac{G'}{G}\right)^{-3n/(n+k-1)} : 6E^{1+n}k + 15E^{1+n}k^2 + 6E^{1+n}k^3$$

$$- 15E^{1+n}k^2n + 6E^{1+n}kn^2$$

$$- 12E^{1+n}kn - cE = 0,$$

$$\left(\frac{G'}{G}\right)^{-k(5n+5k-2)/(n+k-1)} : - 18E^{1+n}k\lambda n\mu^2 + 9E^{1+n}k\lambda \mu^2 n^2$$

$$+ 72E^{1+n}k^2n\mu^2\lambda^2 + 9E^{1+n}k\lambda \mu^2$$

$$- 72E^{1+n}\lambda k^2\mu^2$$

$$+ 144E^{1+n}k^3\lambda\mu^2 = 0,$$

$$\left(\frac{G'}{G}\right)^{-k(4n+4k-1)/(n+k-1)} : - 6E^{1+n}\lambda^2n\mu + 33E^{1+n}\mu\lambda^2k^2$$

$$+ 6E^{1+n}k\mu^2 + 114E^{1+n}k^3\mu^2$$

$$+ 3E^{1+n}\mu\lambda^2n^2 + 6E^{1+n}k\mu^2n^2$$

$$+ 111E^{1+n}\mu\lambda^2k^3 + 39E^{1+n}n\mu^2k^2$$

$$- 39E^{1+n}k^2\mu^2 - 33E^{1+n}\mu\lambda^2k^2$$

$$+ 3E^{1+n}k\mu\lambda^2 - 12E^{1+n}kn\mu^2 = 0,$$

$$\left(\frac{G'}{G}\right)^{-3k(n+k)/(n+k-1)} : 6E^{1+n}k\lambda\mu n^2 - 12E^{1+n}k\lambda\mu n$$

$$+ 12E^{1+n}\lambda\mu nk^2 + 27E^{1+n}k^3\lambda^3$$

$$+ 6E^{1+n}k\lambda\mu + 168E^{1+n}\lambda\mu k^3$$

 $-12E^{1+n}\lambda \mu k^2 = 0.$

$$\left(\frac{G'}{G}\right)^{-k(n+k+2)/(n+k-1)} : 36E^{1+n}\lambda k^3 + 9E^{1+n}k\lambda$$

$$+ 36E^{1+n}\lambda k^2 - 18E^{1+n}kn\lambda$$

$$+ E^{1+n}k\lambda n^2 - 36E^{1+n}\lambda nk^2 = 0,$$

$$\left(\frac{G'}{G}\right)^{-k(2n+2k+1)/(n+k-1)} : 21E^{1+n}\lambda^2 k^2 + 57E^{1+n}\lambda^2 k^3$$

$$+ 3E^{1+n}k\mu + 3E^{1+n}k\lambda^2$$

$$+ 15E^{1+n}\mu k^2 + 60E^{1+n}\mu k^3$$

$$- 6E^{1+n}kn\lambda^2 + 6E^{1+n}k\mu n^2$$

$$- 15E^{1+n}n\mu k^2 - 21E^{1+n}nk^2$$

$$+ 3E^{1+n}kn^2\lambda^2 - 12E^{1+n}kn\mu = 0,$$

$$\left(\frac{G'}{G}\right)^{-3k(2n+2k-1)/(n+k-1)} : 60E^{1+n}k^3\mu^3 - 234E^{1+n}k^3\mu^6$$

$$+ 6E^{1+n}k\mu^3n^2 - 12E^{1+n}kn\mu^3$$

$$+ 39E^{1+n}n\mu^3k^2 = 0.$$

$$(30)$$

Solving this algebraic system by the use of Maple, we get the solutions for (3) as follows:

$$\lambda = 0,$$
 $\mu = 0,$ $c = 3E^n k (2k + 1 - n) (k + 2 - 2n),$
(31)

where *k*, *n*, and *E* are arbitrary constants. From (31) and (29), we obtain the exact traveling wave solution as follows:

$$u(x,t) = u(\zeta) = E\left[\frac{c_2}{c_1 + c_2 \zeta}\right]^{-3k/(n+k-1)}$$
 (32)

Choosing $c_1 = 0$ and $c_2 = 1$ in (32), we get

$$u(x,t) = u(\zeta) = E(\zeta)^{-3k/(n+k-1)}$$
. (33)

Now this is exactly the same as (27) if we substitute c as given in (31) into (27).

4. Conclusion

In this paper, we provide another instance of the applications of the (G'/G)-expansion method to the still very limited case whereby the balance numbers are not positive integers; see Zhang [22]. We have obtained some new exact traveling wave solutions of the thin film equation and its two generalizations. The solitary wave solutions are derived from these functions when the parameters are taken as special values. The Zhang technique [22] used in this paper is more effective and more general than that originally proposed by Wang et al. [10]. In all the general solutions (17), (26), and (32), we have

the additional arbitrary constants c_1 and c_2 . We note that the special case $c_1 = 0$ and $c_2 = 1$ reproduced the results of Bertozzi and Pugh [23] and King [9] with an appropriate choice of c. The new type of exact traveling wave solutions obtained in this paper for thin film equation and its two generalizations could be of beneficial use in future studies.

References

- [1] S. B. G. O'Brien and L. W. Schwartz, "Theory and modeling of thin film flows," *Encyclopedia of Surface Colloid Science*, vol. 63, pp. 52–83, 2002.
- [2] R. Buckingham, M. Shearer, and A. Bertozzi, "Thin film traveling waves and the Navier slip condition," SIAM Journal on Applied Mathematics, vol. 63, no. 2, pp. 722–744, 2002.
- [3] M. Kumar and N. Singh, "Phase plane analysis and traveling wave solution of third order nonlinear singular problems arising in thin film evolution," *Computers & Mathematics with Applications*, vol. 64, no. 9, pp. 2886–2895, 2012.
- [4] T. G. Myers, "Thin films with high surface tension," *SIAM Review*, vol. 40, no. 3, pp. 441–462, 1998.
- [5] E. Momoniat, "An investigation of an Emden-Fowler equation from thin film flow," *Acta Mechanica Sinica*, vol. 28, no. 2, pp. 300–307, 2012.
- [6] P. Constantin, T. F. Dupont, R. E. Goldstein, L. P. Kadanoff, M. J. Shelley, and S.-M. Zhou, "Droplet breakup in a model of the Hele-Shaw cell," *Physical Review E*, vol. 47, no. 6, pp. 4169–4181, 1993.
- [7] H. Knüpfer, "Well-posedness for the Navier slip thin-film equation in the case of partial wetting," Communications on Pure and Applied Mathematics, vol. 64, no. 9, pp. 1263–1296, 2011.
- [8] H. P. Greenspan, "On the motion of a small viscous droplet that wets a surface," *Journal of Fluid Mechanics*, vol. 84, no. 1, pp. 125–143, 1978.
- [9] J. R. King, "Two generalisations of the thin film equation," *Mathematical and Computer Modelling*, vol. 34, no. 7-8, pp. 737– 756, 2001.
- [10] M. Wang, X. Li, and J. Zhang, "The (G'/G)-expansion method and travelling wave solutions of nonlinear evolution equations in mathematical physics," *Physics Letters A*, vol. 372, no. 4, pp. 417–423, 2008.
- [11] A. Kilicman and R. Abazari, "Travelling wave solutions of the Schrdinger-Boussinesq system," *Abstract and Applied Analysis*, vol. 2012, Article ID 198398, 11 pages, 2012.
- [12] H. Jafari, N. Kadkhoda, and A. Biswas, "The (G'/G)-expansion method for solutions of evolution equations from isothermal magnetostatic atmospheres," *Journal of King Saud University Science*, no. 1, pp. 57–62, 2012.
- [13] B. Ayhan and A. Bekir, "The (G'/G)-expansion method for the nonlinear lattice equations," Communications in Nonlinear Science and Numerical Simulation, vol. 17, pp. 3490–3498, 2012.
- [14] A. Malik, F. Chand, H. Kumar, and S.C. Mishra, "Exact solutions of the Bogoyavlenskii equation using the multiple $(G^{'}/G)$ -expansion method," *Computers & Mathematics with Applications*, vol. 64, no. 9, pp. 2850–2859, 2012.
- [15] E. M. E. Zayed and M. A. M. Abdelaziz, "The two-variable (G'/G, 1/G)-expansion method for solving the nonlinear KdV-mKdV equation," *Mathematical Problems in Engineering*, vol. 2012, Article ID 768573, 14 pages, 2012.

- [16] H. Naher and F. A. Abdullah, "Some new traveling wave solutions of the nonlinear reaction diffusion equation by using the improved (G'/G)-expansion method," *Mathematical Problems in Engineering*, vol. 2012, Article ID 871724, 17 pages, 2012.
- [17] M. K. Elboree, "Hyperbolic and trigonometric solutions for some nonlinear evolution equations," *Communications in Non-linear Science and Numerical Simulation*, vol. 17, no. 11, pp. 4085–4096, 2012.
- [18] H. Naher and F. A. Abdullah, "The (G'/G)-expansion method for abundant traveling wave solutions of Caudrey-Dodd-Gibbon equation," *Mathematical Problems in Engineering*, vol. 2011, Article ID 218216, 11 pages, 2011.
- [19] M. M. Kabir, A. Borhanifar, and R. Abazari, "Application of (G'/G)-expansion method to regularized long wave (RLW) equation," Computers & Mathematics with Applications, vol. 61, no. 8, pp. 2044–2047, 2011.
- [20] J. Feng, W. Li, and Q. Wan, "Using (G'/G)-expansion method to seek the traveling wave solution of Kolmogorov-Petrovskii-Piskunov equation," *Applied Mathematics and Computation*, vol. 217, no. 12, pp. 5860–5865, 2011.
- [21] A. Malik, F. Chand, and S. C. Mishra, "Exact travelling wave solutions of some nonlinear equations by (G'/G)-expansion method," *Applied Mathematics and Computation*, vol. 216, no. 9, pp. 2596–2612, 2010.
- [22] H. Zhang, "New application of the (G'/G)-expansion method," *Communications in Nonlinear Science and Numerical Simulation*, vol. 14, pp. 3220–3225, 2009.
- [23] A. L. Bertozzi and M. Pugh, "The lubrication approximation for thin viscous films: regularity and long-time behavior of weak solutions," *Communications on Pure and Applied Mathematics*, vol. 49, no. 2, pp. 85–123, 1996.
- [24] A. L. Bertozzi and M. Pugh, "The lubrication approximation for thin viscous films: the moving contact line with a "porous media" cut-off of van der Waals interactions," *Nonlinearity*, vol. 7, no. 6, pp. 1535–1564, 1994.